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And when does »'"9 not require the writing to be 7w, when
following Scriptural’ law; however rabbinic law requires 7aw5.

OVERVIEW

The X773 is attempting to establish that our 71wn which requires 72°nm 72°03
mnw® follows the opinion of n"1. Even though n"3 does not require 72°n>
RNRTA D, however 112771 he does require (even) nnw? 72°nd. That is
why the MW must say 2n31 *192 to assure us that it was written Tnw" as the
1127 require. Our MBOIN will be discussing to what extent is this 132772 21°17 to
write a W va. Is it only 79°1n2%, however 72372 it is W2 even if it were
not written 72wY; or does it mean that even 72¥°72 it is a 109 WA since it was
not written 71WY as the 3121 require.

N1D0IN states:
- 12571 109

And the vx will be 9105 even if it was already executed m»w» 2w and given to

the woman; nevertheless she will not be considered divorced, since the rabbinic rules
were not followed; it was not written 7nw5.

moon explains why is it necessary to maintain the abovementioned:
= 99D YNWHIDTD NN PNNIND NNPINND R 9NN )IyaY

For if it were to be otherwise; namely that 72¥°72 once the ©) was given to
her, she will be considered divorced, then our i will still not follow the

opinion of " as I have explained previously?; that if 7nwb Xow 72003 is 2109
only 1717°1n2%, the 051 would not be Jpn» to say ans1 °192. In addition the mwn in 2 Pod,
which presumably is the same Xin as our mwn states that if the 5w did not say ana1 °192,
the w3 is 7109, That proves that w9 X?w 172°n2 renders the 7105 U even T2y°72.

mooin asks:
= DD 97INT 92NN NIV NI 9INN ON)

And if you will say; why is the 17 of 7aw? 72°n> different than the 7 of

9272 712°N2, for it was previously quoted from the *1w 93 mawn (on 2,83) -
- 19291 999K WA 1a¥>1a YaN NYINNIY Pama PN

!'2"1 is of the opinion that ;79 an refers to the 7°nn 7w, not to the actual v NN,
2 See 1107 "7 MoOIN (pg. 4 in TIE).
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‘One is not to write initially a 12112 03, however if one wrote a 72112 V3
and gave it to the woman, we consider it a 9w> v3; even according to the
rabbinic law it will be considered a "w> v3. We know that it is w2 even 72¥°72 132777,
and not only 72¥°72 XK1 W, because we know —

— APty NNNAY P2 PIYIN PR RNIINTNT
That in ;7990 law there is no difference’® between 7% nn>% and 72°7. When
the 77N says that something is invalid, the rule is that it is invalid even 72y>72. Therefore
we must say that the mwn which distinguishes between 72°1n3% and 72¥°72 concerning
72mna 7203 is referring to the 11277 17. We see that 121722 72°n2 is 72¥°72 W2 even
112772, Why should we think (even in a X1°nX 177) that 7nwh ROW 72°n3 is 72v°72 2109? The
requirement for W5 and w170 is based on the 7% 2n1 p1od. If n"1 maintains that 2023 is
referring to the nn°nn and therefore 7212 72°n3 is 72272 W), the same should apply to
Rwh ROW 72°0).

mooIn replies:
$IND GNNN INNNI TTYHN 2295 92INNT PPNH2INN NINN 2PN RNWNT 99D ¥

And one can say; that now as we are attempting to establish our mwn
according to »n"7; that he indeed requires 1312771 72372 7AWS 72°n02, then there
is the understanding that the 3wn of 92317722 12012 X will follow the ruling
of X' who maintains that 2021 refers to the 772°n> and the term "vanmy', that

the m1wn uses is referring to the n™IN.* Therefore that mawn is not teaching us the
ruling of "7 in the case of 7212 72>n>. It is only discussing the opinion of X".> We can
very well say that at this point when we are insisting that »"9 maintains that X5w 72°n>
WY is 72v°72 909; the same ruling will apply to "21mm2 7220, that it too will be 9109
72v>72.° There is no explicit mwn» or X012 that contradicts this.”

SUMMARY
In this X°»R M7, in which "3 maintains that we require 12771 7S 72°03,
this requirement extends even to a case of 72y°73; if the VA was not written

3 There are some rare exceptions to this rule; notably by o>w1p, where we sometimes require 210377 Y9y Adw
2235,
4 The 9mn is the portion of the v where the names of the husband and wife as well as the date are written.
It is only this portion of the vi that has to be written % and w12n. The 091 or the textual form of the v
may be written 7nw? 82w (or 721132). See previous 7107 3"7 ‘01N,
5 See ‘Thinking it over’ # 1&2.
¢ See ‘Thinking it over’ # 4.
7 This is only according to the R1°aX 7177 that 2" requires 112777 72¥°72 7w 72°N2; the X1poOn is that »"1 does
not require 7nw 72°n> at all. Therefore the mwn of 12312 12015 X can follow the opinion of n"1. See
previous 7In7 1"7 'ON.
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7awh even if the woman received it, she is not considered divorced. At this
point we will also have to maintain that the 71w of "2 X does not follow
the opinion of n"7. Otherwise why should there be a distinction between
TWwY XPW 12°n2 which is 729°72 2109 and 12112 72°n05 which is 7ay°72 W),

THINKING IT OVER

1. MoIN maintains that in this XIAR 77, the 7awn of amd PR follows the
opinion of X"1 and not of n"1.® Previously’, moon taught that we know that
n"3 does not require W7 12°n2 either from the 12> PR Mwn, or from the
X of jm1 27, If that mawn does not follow the opinion of »"3 and
seemingly at this point we do not yet know of the X7 of 1"9; how can we
be sure that n"1 does not require XN»NRTA 7AWH 72202210

2. Why is it necessary to say that in this X»X ™7 the mawn of 17am> PX
follows the opinion of X"1;!" we can say that it follows the opinion of n",
and °Xp 770X 10, and it is 72772 7109 because »" holds that vY?na 72°n>
is 1312777 72¥°72 9109 just as 7AW XYW 72°03 is 132777 72v°72 D100, 12

3. Explain the difference between the previous two questions.

4. How are we to resolve this seeming contradiction in this X™"n?!3
According to X"7 who requires 807X 77 7w 72°n3 the ruling is that 72v°72,
if ynm WP 1203 it is Wwd; however according to »"Y who requires 72°Nn
Y only 112777, it will be 7100 even 72v°72!?

8 See footnote # 5.
%7107 "7 'O (at the beginning of the nmooIN).
19 The wpn should have phrased his question this way: Perhaps the 71wn of Pan PX follows the opinion
that >Xp 7R mnn, and both "1 and X" agree that we require Xn>» X7 7w 72°02. Therefore our mwn
can follow the view of n"1 who requires both 72w? 72°nm 72°n3. See (T1IXA) R"wAnn and 7™w 2" .
! See footnote # 5.
12 See (*p1 7"R2 A"72) Awn nbm.
13 See footnote # 6.
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